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MATH 101 - Examn I - Term 161

Duration: 90 minntes

Name: ‘KQY_ (_feyi_S&J) ID Number: e

Section Number: _ Serial Number: S
Class Time: _Instrnetor's Name: o
Instructions:

L. Caleulators and Mobiles are not allowed.
2. Write legibly.
3. Show all your work. No points for answers without Justification.

4. Make sure that you have 7 pages of problems (Total of 7 Problems)
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. Evaluate the following limits. if exist
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2. [10 points] Find the vidues of o and b making the hinction
(2rf] of 1
fila) = ar +h af L<o< 1 comtimons at r =1 and r — - l.
1 — 2 i |

(where '_’..*'|_. 1s the greatest mteger less than o cqual to 2r).
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3. ()[8 points] Show that the equation @ — |y, ¢ ) has o solution i the
interval (0, 1)
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L (a) [8 points] Find all vertical asvinptote(s) of the hanetion

I(x) = . I-I - : .
e ar -+ .4
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(b) [8 points] Find all horizontal asymptotes of f(r) = P
s _'.I'
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7. The dhisplacement (in meters) of o particle moving, i a strateht line s given by

S = 1% ¢ 1.owhere s measured e seconds

(2)[6 points] Find the average velocity over the time iterval 2,31
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6. (a) [10 points] Find the derivative of the function J(r) = ;
€T -

(You must use limits only)
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